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Tano issues bonds with a par value of 180 000



Academia.edu cookies to personalize content, customize ads, and improve the experience. By using our website, you agree to our collection of information through the use of cookies. For more information, see our Privacy Policy.× Tano issues bonds with a nominal value of $180,000 on January 1, 2013.
The annual contract rate for bonds is 8% and the interest is paid in the first half of the year on 30 June 2009. Bonds expire in three years. The annual market rate at the date of issue is 10% and the bonds are sold for $170,862. 1. How much is the amount of the write-down of these bonds at issue? 2. How
much is the total cost of interest on the bond recognised over the lifetime of these bonds? 3. Use the linear method to depreciate the discount on these bonds. 1. How much is the amount of the write-down of these bonds at issue? Discount = Face value - Issue price = $180,000 – $170,862 = $9,138 2. How
much is the total cost of interest on the bond recognised over the lifetime of these bonds? Total bond interest expense over lifetime bonds Amount repaid Monthly payments of $7200 * $43,200Par value at maturity of 180,000 Total repaid 223
200000000000000000000000000000000000000000000000000000000000000000000000 Total bond interest expense $52,338 *180,000 × 0.08 × 1/2 = $7,200 Half-year-end discount Balance sheet value01/01/2013 $9,138 $170,862 06/30/2013 $7,615 $172,385 12/31/2013 $6,092 $173,908 06/30/2014
$4,569 $175,431 12/31/2014 $3,046 $176,954 06/30/2015 $1,523 $178,477 12/31/2015 $0 $180,000 • 1. WHAT IS THE AMOUNT DISCOUNT ON THE ISSUANCE OF THESE BONDS No goodwill of $180,000Sales value of $170,862so bond discount = $9.1382. How much is the BOND interest expense
recognised during the lifetime of these bonds? Total inflow of $170,862Tal outflow over life bonds = ($180,000 x 8% x 3 years) + $180,000 = 223,200 Total bond interest is the difference, so = $52,338.Another way to reach it is as follows: Total interest over life = $180,000 x 8% x 3 years = $43,200plus
bond discount $9,138 = $52,338 Thank you for your participation!
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